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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-8 0
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0 45 - o 45 -
5 -
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0 -
42 - 42 1
5 -
0 T 41 a 41 N
T T T T T T T T T T T T T T
525 530 535 565.0 567.5 570.0 572.5 575.0 577. 605 610 635 640 645
m=670,m FV0=0 m=705,m FV0=0 m=735,m FV0=0 m=765,m FV0=0
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—— MW —-— MW —— MW 45 - —— MW
44 -
44 - i
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43 37 43
43 -
42 27
42 7 42 -
41 7
1 41 41
670 675 680 705 710 715 735 740 745 765 770 775
m=795,m FV0=0 m=830,m FV0=0 m=865,m FV0=0 m=900,m FV0=0
45 —-o— MW 45 - -— mW 45 —-o— MW —— MW
45 -
1 44 - 44 -
44 44 -
43 43
43 - 43
42 - i
421 * 42
41 1 i
41 4 41 -
795 800 805 830 835 840 865 870 875 900 905 910
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P3-8

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:05 283 150.0 2.583 F[ BRi%e07:05 Bz (RAERSE)
07:45 283 150.0 2.583 S| {Rige07:45 B (RAERSE)
08:25 283 150. 0 2.583 E  BRi&e08:25 BE1 (RAERRE)
09:10 283 150.0 2.583 F[ BRi%e09:10 Bz (GRAERSE)
10:00 283 150.0 2.583 =l {Ri%@10:00 B3 (RAERSE)
10:40 283 150. 0 2.583 E BRi%e10:40 Bz CGRAERESE)
11:15 283 150.0 2.583 S {Ri%e11:15 Bz (GRAERSE)
11:55 283 150.0 2.583 = {Rige11:55 B (GRAERSE)
12:30 283 150. 0 2.583 E BRige12:30 Bz (GRAERESE)
13:05 283 150.0 2.583 5| {Ri%e13:05 B3 (RAERSE)
13:40 283 150.0 2.583 = RRiB013:40 B (RFAKESE)
14:20 283 150. 0 2.583 E BRige14:20 Bz CGRAEREE)
15:05 283 150. 0 2.583 El 1BRi&e15:05 Bz CGRAEREE)
15:50 283 150.0 2.583 =l RRiB015:50 B (RFAEESE)
16:50 283 150.0 2.583 =l RRiB016:50 Bz (REAKEE)
2it] 4245.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

[Bl;&EC 5357.0 K&, EiFA{RECAE&itkER
#[EKECE (1887.0 vs 5357.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=73 (2025-06-10)

150 Fm—————F——————F——————F——————F——————F——————F-—————Fe—————F——— =]
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2912 | 3000
2500 448
1 -
00 1600 1969 814 2000
147
50 1 L 1000
60 Warning: lcol [FVI',| "FVO’'] missing 00
0 + - (5)0
900 § W VI — ME P
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\ \
150 frmm e e e e e e \— - | . N W WL VDR S —" S —— a5
50 - | — - - .. - - 40
ININEENNENENE]
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 i
Bylnit :@D75 01:59: ET=2768 Fg=3150.0 Ro=546.0 £14000
400 ~ 1
: - 3000
1
200 ! - 2000
i
: - 1000
p——
0 — 0
0 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
g 5 | B i | B | g | BB g | BB | B i 5 | B | B | B 5 | B5 5 i 5 5 5 i & [ 4000
400 ~ 1
ByEt @D73 19:09: ET=2681 Fg=2400. 0 Ro=nan : L 3000
el
200 - , 2000
1
: - 1000
p o - e e e . —
0 i N—— Y 5 o & o 1 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
g | BB | BB i 5 5 | K& g | BB | B i 5 5 5 i 5 5 5 i 5 5 5 i & [ 4000
400 ~ ]
ByWoFv pD75 01:59: ET=1814 Fg=2250.0 Ro=438.0 L 3000
1
|
- 2000
E 1
200 | _—
: I \l\ - 1000
H \
1.0 P : : 4. I — 0
) 0 1 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
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084 F g H 5 g g g Hg g g B 5 B B 5 G B B B B B B B B
0.6 -
0.4 1
0.2 A
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1500 4 _ 4
[ ] | _obs
—@— PPFD obs

40 -
[ ] RH_obs
[ ) RHo_obs
20 A
3 4 ® VPD

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=445, FV0=0 m=495, FV0=0 m=520, FV0=0

i i 50
50.0 48 - ME - ME - ME
47.5 46 48 - 49 -
45.0 44 1 48 -
46 -
42.5 - 42 7 47
40.0 1 401 44 1 46 -
38 45 -
37.5 - - ME 42
T T T T T T T T T T T T
400 600 800 1000 445 450 455 495 500 505 520 525 530
m=570,m FV0=0 m=610,m FV0=0 m=655,m FV0=0 m=690,m FV0=0
- ME - ME 48 - ME 48 | - ME
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48 -
46 - i
46 46
46 -
44 - 441 44 -
44
42 7 42
T T T T T T T T T T T T
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m=730,m FV0=0 m=765,m FV0=0 m=800,m FV0=0 m=835,m FV0=0
48 -
48 - —e— ME 48 1 —— ME - ME - ME
46 - 46 -
46 46
44
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44 - 44
42 -
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42 42
40 -
730 735 740 765 770 775 800 805 810 835 840 845
m=875,m FV0=0 m=915,m FV0=0 m=965,m FV0=0 m=1010m FVO=0
48 - 48 7
—— ME —— ME —— ME 48 - —— ME
46 -
46 - 46 - 47 1
46 -
44
44 - 44 1 45 -
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42 -
42 43
40 1 T T T T T T T T T 42 ] T T T
875 880 885 915 920 925 965 970 975 1010 1015 1020



m=1040, FV0=0 m=445, FV0=0 m=495, FV0=0

49

—— ME 4277 _g— M_W 447 —— MW
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47 N 40 7 42 n
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T T T T T T T T T T T T
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T T T T T T T T T T T T
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m=690,m FV0=0 m=730,m FV0=0 m=765,m FV0=0 m=800,m FV0=0
45 45 -
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43 - 43 - 13 4 43 A
42 1 42 - i
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41 41 - i
41 a4
690 695 700 730 735 740 765 770 775 800 805 810
m=835,m FV0=0 m=875,m FV0=0 m=915,m FV0=0 m=965,m FV0=0
46 -
45 4 —o— MW 45 4 —o— MW —o— MW —o— MW
45 7 45 -
44 - 44 -
44 + 44 -
43 - 43 -
43 - 43 -
42 1 42 1
42 421
41 - 41 ~
T T T T T T T T T 41 L T T T
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P3-8

BrE) | GEBAK @) | ERE(EH/R) | EREE (F/R) [ XS R

06:35 278 150.0 2.583 ;] R1%@06:35 Bz (KRFEERES)
08:15 278 150.0 2.583 &= B2i%@08:15 Bah (kAIEREE)
09:35 278 150.0 2.583 (&= 1B2i1%@09:35 Bzh (kPBIEREE)
10:50 278 150. 0 2.583 &= B21%@10:50 B3h (FkBHEREE)
11:40 278 150.0 2.583 |B = BRige11:40 Bz (GRFAEREE)
12:40 278 150. 0 2.583 &= Bi%@12:40 Bzh (RPBEREE)
13:40 278 150.0 2.583 |/ B2i8@13:40 Bz (REERE)
14:25 278 150. 0 2.583 e Ri%e14:25 Bz (RAEKSE)
15:15 278 150. 0 2.583 &= Bi%@15:15 Bz (kBEREE)
16:40 278 150.0 2.583 |Z=| FHIT016:40 Bah (KAEREE
21t 2780.0 (10)%) 1500. 0 32803 %EC: 2080.0, PH: 6.0

FHEKRECE (1897.0 vs 4227.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8 0, Day=72 (2025-06-09)

150 e ———
VI, V4RV, ET - VI, V0, FVI, FVO, FRV, adjFRV, ET [ 2000
2500
100 - 152 1969
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501 L 1000
60 Warning: lcol [FVI',| "FVO’'] missing 60
0 + - 60
200 § ft
150 - 4
(NN
100 L 40 =
50 A
- 35
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
000 ,
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: - 2000
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! - 1000
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300 A i
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! L 2000
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300 A i
ByWoFv I@D75 01:59: ET=1252 Fg=1500.0 Ro=323.0
200 - | - 2000
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100 - : - 1000
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1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
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0.4 1
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1808 3
—_— 4
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—@— PPFD obs
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FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=375, FV0=0 m=420, FV0=0 m=470, FV0=0

46 49 -
—-o— ME 48 -o— ME -o— ME
47.5 a4
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45.0 4
42 46 4
42.5 A 47 -
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40.0 + i
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37.5 A
36 4 43 45 -
35. 0 —&— ME 49 4
T T T T T T T T T T T T T
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48 - 47 1
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42 4
T T T T T T 42 - T T T T T T T T
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46 - ME —o— ME —o— ME 48 1 —o— ME
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44 - 46 -
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40 . 42 _
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T T T 40 B T T T T T T T T T
835 840 845 875 880 885 920 925 930 1000 1005 1010
m m=375,m FV0=0 m=420,m FV0=0 m=470,m FV0=0
46 7 41 -
—o— MW —o— MW —— MW
45.0 +
44
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44.5 -
43 -
42 39 -
44.0
40 1 42
38 43.5 1
%87 371 417 43.0 1
—&— MW
36 L T T T T 36 L T T T 40 T T T 42 5 - T T T
400 600 800 1000 375 380 385 420 425 430 470 475 480
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P3-8

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

07:10 278 150. 0 2.583 E BRi&e07:10 Bzl (GRAEREE)
07:40 278 150. 0 2.583 E|  {Rige07:40 B3h (RE{EREE)
08:10 278 150.0 2.583 = {RRiB008:10 Bz (RFAEEE)
08:55 278 150. 0 2.583 E  1BRi&e08:55 Bzl (RAERE)
09:30 278 150.0 2.583 5| {Ri%@09:30 B3 (FAMERSE)
10:05 278 150.0 2.583 =l RRi8@10:05 Bz (RFAEESE)
10:35 278 150.0 2.583 = {RRiB010:35 Bz (REAEEE)
11:05 278 150.0 2.583 5| {Ri%e11:05 Bz (RAERSE)
11:35 278 150.0 2.583 =l {Rige11:35 B3 (RAERSE)
12:05 278 150.0 2.583 S| {Rige12:05 B3 (REAERSE)
12:35 278 150. 0 2.583 E| {Rige12:35 Bzh (RE{ERESE)
13:05 278 150.0 2.583 F BRige13:05 Bz (GRAERESE)
13:40 278 150.0 2.583 S| {Rig013:40 B3 (RAERSE)
14:15 278 150. 0 2.583 E BRige14:15 Bz CGRAERESE)
14:50 278 150.0 2.583 F BRige14:50 Bz CGRAERSE)
15:25 278 150.0 2.583 = {Rige15:25 B3 (RAERSE)
16:10 278 150. 0 2.583 El BRige16:10 Bz (GRAERESE)
17:10 278 150. 0 2.583 E| {Rige17:10 Bah (RE{EREE)
24t]5004.0 (18)%) 2700. 0 323 KEC: 2080.0, PH: 5.8

FHERECE (1927.0 vs 4467.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8 0, Day=71 (2025-06-08)

T e g g S g B S g g
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0.0

400 -

200 -

0 1 2 3 4 5 6 7 8

i
Bylnit @D75 01:59: ET=2931 Fg=3300.0 Ro=437.0
i
i
i
i
|
i
|
|
i

10

11

16

- 4000

- 3000

- 2000

cumET (ml/plant)

- 1000

20

21

22

23

B | s | B[R | B[R |KB[K]|E

E3

B

ES
5]

=
B

=
B

E3
B

E3
B

3

A 4000

ByEt @71 19:08: ET=2589 Fg=2550.0 Ro=nan

200 -

0 1 2 3 4 5 6 7 8

9

_/\

10

11

12

13

15

- 3000

- 2000

- 1000

cumET (ml/plant)

16

17

20

21

22

23

B | s | B[R | B[R |KB[K]|KE

i

[

ES
5]

=
B

E3
B

ES
5]

=
B

E3
B

=
B

ER

ZR[ZX| 4000

400
ByWoFv

200 -

-

D75 01:59: ET=2183 Fg=2700.0 Ro=550.0
—/\

10

11

12

13

15

- 3000

- 2000

cumET (ml/plant)

- 1000

21

22

23

0.8

E3

B

ES
5]

=
B

E3
B

ES
5]

ER

EXNESS

0.6

0.4+

0.2~

1808 3

1000 A

500 A

|
| _obs

—@— PPFD obs

80 -

60

RH
[ ] RH_obs
[ ) RHo_obs

40

20 A

44

VPD P




m=390, FV0=0 m=435, FV0=0 m=505, FV0=0
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—-— ME —o— ME 48 - —-o— ME
44 -
46 -
46 -
42 -
40 44 7 44
38 1 42 - 42 -
-o— ME
T T T T T T T T T T T T T
400 600 800 1000 390 395 400 435 440 445 505 510 515
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m=935, FV0=0 m=995, FV0=0 m=390, FV0=0
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